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Ramsey Number

S
Example: R(3,3) =6
* Is the 3rd * Is the 3rd
Ramsey Ramsey
humber 5? humber 6?
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Yes
Possible to create a Not possible to create a
mapping without a k3 in a coloring without a k3 In a_6-
5-node graph (a ks) node graph (a kg) and this

R(3,3) = 6
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http://en.wikipedia.org/wiki/Mathematical_induction
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Ramsey Theory Applications

 Number Theory : Schur’s theorem
If N Is partitioned into a finite number of
classes, at least one partition class contains a
solution to the equation x + y = z.

« Computational geometry: Erdos-Szekeres theorem

22 4+1 < g(n) < (2" i
where g(n) denotes the smallest number such
that any set of at least g(n) points in general
position in the plane contains n points in convex
position. The Erdos-Szekeres theorem is the
consequenceortneinesRamsey theorem.
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http://en.wikipedia.org/wiki/Ramsey's_theorem
http://www.cut-the-knot.org/arithmetic/combinatorics/Ramsey44.shtml
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